1.1
> , Web
1.2
1.3 Big-University
(
GPA
1.4
@



1.5

1.6

1.7

)
©)

4

major(X, “ computing science” ) owns(X, “ personal computer” )

[support=12%, confidence=98%] X

(1
2
3)
“4)
®)
(6)
0
®)
)
(M
@)
€)

98%
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2.1

2.2

23

4)
®)

(6)

™)

®)

)

(@)
(b)
(©
(d)
(®)
®
(@)
(b)
(©
(d)
(©)
8]

(1)

)

AM PM

ISBN

27



24

2.5

)

(2) min-max

(b) z-score

(©

(a)[new_min,new_max]

(0) (- ,+ )
(©)(-1.0 1.0)

age age ( )

13,15,16,16,19,20,20,21,22,22,25,25,25,25,30,33,33,33,35,35,35,35,36,40,45,46,52,70

(2)

(b)
(@

3

age ( )
13,15,16,16,19,20,20,21,22,22,25,25,25,25,30,33,33,33,35,35,35,35,36,40,45,46,52,70
3 C )
13,15,16
16,19,20
20,21,22
22,2525
25,25,30
33,33,33
35,35,35
35,36,40
45,46,52
70

O 00 3 N D B~ W N~

—_
[e)

15,15,15
18,18,18
21,21,21
24,2424
27,27,37
33,33,33
35,3535
37,37,37
48,48,48
10 70

O 0 3 N D B~ W N~



2.6

2.7

2.8

(b)

D ( )
2
2.5 age
(a) min-max age 35 [0.0 1.0]
(b) Z-score age 35 age 12.94
(©) age 35
(d)
35-13
(a) 70 13 35 u:0.386
70-13
(b) 30 12.94 35 ﬂ =0.386
12.94
(c) 35 3—5=O.35
100
(d) min-max
2.5 age
(a) 10
(b)
5 (13 ,”CC 2 (13 2
(a) 10
9
= B un
(b) 5
(1) 30,33,30,25,30
2 30,33,33,35,25
3) 16,25,33,35,46
@ 25,35,52
(
)1(2) 5(5) 8(2) 10(4) 12 14(3) 15(5) 18(8) 20(7) 21(4) 25(5) 28 30(3)
D) 3 10 1—10
13 11—20 24 21—30
13
@ 2 4



1 8 10 12 14 21 28 30
5 15 18 20 25

2.9
(1
@
3)
2.10
(a, b)
(@) X, (a, b)
by X

()@2 b2)
(b)Y=kx"0.5 +C (k, C

2.11

2.12 m
n<m
(a)
(b)
(a)

2.13

@

(b)
)

(b)

)

nxm;/m

x*

5

27

8

(b)

m;



2.14

df

(@)
(b)
@

(b)

2.15
(a)x=(1
(b) x=(0
(c) x=(2
(@
(b)
(©

2.16
(2)
(b)
(©
(d)

(@
(b)

(©
(d)
2.17
(@)
(b)
(©)
(d)

@

: t, i () j

. m
tfij = tfij . IOgR

i (document frequency)

(inverse document frequency)

0
log m
Xy
1 1 1) y=2 2 2 2
I 0 1) y=(1 0 1 0 Jaccard
-1,0 2 0 -3) y=(-1 1 -1 0 0O -1)
05 0 2
Jaccard 01 2 0
0 0
(ratio-scaled)
Jaccard
( 1 0)

pl(22 1 42 10) p2(20 0 36 8)

x=3

diy =y(22-20) +(1-0)* +(42-36)* +(10-8)* =45



(b)
d,, =/22-20]+|1-0|+|42-36]+|10-8]=11

(©) =3

d, :i/|22—20|3 +|1-0F +|42-36[ +]10-8] =3/233

2.18 name gender trait-1 trait-2 trait-3 trait-4
id gender trait
name gender | trait-1 | trait-2 | trait-3 | trait-4
Keavn M N P P N
Caroline | F N P P N
Erik M P N N P
P 1 N 0
( )
(a)
(b) Jaccard
(c)
(d) gender Jaccard
(a)
SMC (Keavn, Caroline) = (2+2)/( 0+0+2+2) =1
SMC(Keavn, Erik) = (0+0)/( 2+2+0+0) =0
SMC(Caroline,Erik) = (0+0)/( 2+2+0+0) =0
(b) Jaccard
Jaccard (Keavn, Caroline) = 2/(2+0+0) = 1
Jaccard (Keavn, Erik) = 0/(0+2+2) =0
Jaccard (Caroline,Erik) = 0/(0+2+2) =0
(©) Keavn  Caroline Caroline
(d) gender M 1 F
Jaccard (Keavn, Caroline) = 2/(2+1+0) =2/3
Jaccard (Keavn, Erik) = 1/(1+2+2) = 1/5
Jaccard (Caroline,Erik) = 0/(0+2+3) =0
Jaccard (Keavn, Caroline) Keavn  Caroline
2.19 [0 1]

““®:q;m_l

name

Erik

[0 o]



3.1

3.2

33

3.4

(M
2
3)
“)
)

ID

(M
2

d( P, q) = —log(S( P, q))

@ @

log |D|

3-23

ID

mx|D|x log(|D|)

mx|D|xlog(|D))

1)
2) @
m
O(log |D|)
log |D|
3-23 3.4
A B
T F +
T T +
T T +
T F -
T T +
F F -
F F -
F F -
T T -
T F -
B
B Gini

27

2

ID

‘D‘ X log(‘ D‘)



(1)

)

3.5

A=T | A=F B=T | B=F
+ 14 0 + 13 1
- 13 3 -1 5
E=-0.4l0g,0.4-0.610g,0.6=0.9710
A (A T A
E, ;= —élog2 g—%log2 % =0.9852
3 30 0
EA:F = —glogzg—glogz g =0
7
A A = E —E EA:T
B (B T B
E,; = —%log2 %—%logz % =0.8113
E,; = —%log2 %—%log2 % =0.6500
4
B A=E T Esr ——
A
Gini G=1-0.4°-0.6=0.48
A Gini :
2 2
G, .. =1—G) —@j =0.4898
2 2
3 0
6ne=1-(3) (3] -0
.. 7 3
Gini A:G—EGA:T _EG*F =0.1371
B Gini
2 2
Gy . :1—&] —G) =0.3750
2 2
6o -1-(2] (2] -oams
Gini A=G % o —%GBZF =0.1633
B

10 27

3

6

10

F)

-—E, . =0.2813
0 AF

F)

Ey . =0.2565



3-24

3-24 3.7
A B C
1 0 0 0 +
2 0 0 1 -
3 0 1 1 -
4 0 1 1 -
5 0 0 1 +
6 1 0 1 +
7 1 0 1 -
8 1 0 1 -
9 1 1 1 +
10 1 0 1 +
(1) P(Al+) P(B[+) P(C|+H PAl-) PB[-) PCl-)
2) (1) (A=0 B=1 C=0)
3) Laplace p=1/2 =4 P(Al+) P@B|+) P(C|+)
P(Al-)  P(@B[-) P(C|-)
@ @ 3)
(%)
(1) P(A|+)=3/5
P(B|+)=1/5
P(A|-)=2/5
P(B|-)=2/5
P(C|-)=1
) P(A=0,B=1,C=0)=K
K

P(+]A=0,B=1,C=0)=P(A=0,B=1,C=0)xP(+)/K
=P(A=0|+)P(B|+)P(C=0[+)xP(+)/K=0.4x0.2x0.2x0.5/K=0.008/K
P(-[A=0,B=1,C=0)=P(A=0,B=1,C=0)xP(-)/K
=P(A=0]-)P(B-)P(C=0]-)xP(-)/K=0.4x0.2x0x0.5/K=0/K

+

11 27



3.8

3.9

(3) P(AF)=(3+2)/(5+4)=5/9
P(A|-)=(2+2)/(5+4)=4/9
P(B|+)=(1+2)/(5+4)=1/3
P(BJ-)=(2+2)/(5+4)=4/9
P(C|-)=(0+2)/(5+4)=2/9

4) P(A=0,B=1,C=0)=K

K
P(+|{A=0,B=1,C=0)=P(A=0,B=1,C=0)xP(+)/K
=P(A=0[+)P(B|+)P(C=0|+)xP(+)/K
=(4/9) x(1/3) x(1/3) x0.5/K=0.0247/K
P(-|A=0,B=1,C=0)=P(A=0,B=1,C=0)xP(-)/K
=P(A=0]-)P(B|-)P(C=0[-)xP(-)/K
=(5/9) x(4/9) x(2/9) x0.5/K=0.0274/K

5) 0 Laplace
0.
3-25
3-25 3.8
X |05 |30 |45 |46 [49 |52 |53 |55 |70 |95
Y |- - + + + - - + - -
1- 3- 5- 9- x=5.0
1- +
3- ,
5- +
9- ,
3-26 X Y “oprow
0,1 2“+ Y=1*“ -7 X=0 and X=2
3-26 3.9
X Y
+ _
0 0 0 100
1 0 0 0
2 0 0 100
1 1 10 0
2 1 10 100
0 2 100
1 2 0 0
2 2 100

—_
N

27



(1)

) - (
* )
3)
0 -
Cii. =11 il
- s
A
( )
W 20 500
E =1-max( 20 ,500)= 20
520 520" 520
X

X=0 | X=1| X=2
+10 10 |10
- 1200 |0 ]300
Ex-0=0/310=0
Ex-1=0/10=0
Ex—»=10/310

AX:E_QXO_&XO—SIOX 10 10

520 520 520 310 520
Y

Y=0 | Y=1]|Y=2
+10 20 |0
- 1200 | 100 | 200
Ev-0=0/200=0
Ey-1=20/120
Ey-,=0/200=0

_ 120 20

x =T E———XxX——

520 120

X
X=2

Y=0 100 Y=1 10 100
100 )

@

- |0 | 500

13 27
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accuracy: 2713 =0.9808 precision: % =1.0

recall: £=0.5 F—measure:w=0.6666
20 1.0+0.5
3)
+ | 0 | 500/20=25
- |10
@) 3 X=2 Y=0 X=2 Y=1 X=2 Y=2
X=2 Y=1 “ogn 10%* 0+100 * 1=100
“o 10 25+100 * 0=250 ‘ot
{+ X=1v(X=2AY=1)
3.10
k M;
M. 1" " M
M*
3.11 3-27
3-27 3.11
X Y
72 84
50 63
81 77
74 78
94 90
86 75
59 49
83 79
65 77
33 52
88 74

14 27



3.12

(1)
)
€)
(M

@

3)

81 90
X Y
86
100
90 - -
.
8 > * 0"‘
70
60 *
50 2 5
40
30
20
10
0
0 20 40 60 80 100
X Y
X Y X*Y
1 72 84 6048
2 50 63 3150
3 81 77 6237
4 74 78 5772
5 94 90 8460
6 86 75 6450
7 59 49 2891
8 83 79 6557
9 65 77 5005
10 33 52 1716
11 88 74 6512
12 81 90 7290
SUM 866 888 66088
Y =a+b*X
a=Yy+b*Xq
b = (T xiyinXoYo)(T x>-nXy%)
Xo=( x)/n
Yo= (2 yi)/n
a=32.0279 b=0.5816
(2) 86
y = ax’

15

27

X2
5184  73.
2500  61.
6561  79.
5476 75.
8836  86.
7396 82.
3481  66.
6889  80.
4225  69.
1089  51.
7744 83.
6561  79.
65942
82.0455

9031
1079
1375
0663
6983
0455
3423
3007
8319
2207
2087
1375



w=x’ w=x"(i=12,...,n) (wi Y)i=1 2 n)

y = aw a y= ax” y X
4
4.1
(1)
N K
K<N K
(
) K
K-MEANS K-MEDOIDS CLARANS
()
BIRCH CURE CHAMELEON
3)
DBSCAN OPTICS DENCLUE
“)
(SOM)
4.2 8 ( xy) )
A1(2,10),A2(2,5),A3(8,4),B1(5,8),B2(7,5),B3(6,4),C1(1,2),C2(4,9) Euclidean
Al,BlI C1 k-means

(a)

(b)

(a)

16 27



12

B2 10
I ——— A 10
AR
N e
B
- e AfER
25 A RS g
4 ém A Beeaa e BARL
LY ., 3.0 ) EHFFJE.'-
2 I A s < CPL
0
0 2 4 6 8 10
N
(b)
12
10— e 210
A4S
Eathl 06 9 s 5 p
¢ . WEEA
> B e 7S 1Ea
L5 o4 A Hesa | AWC
4 - E & AL
< P LS i R
2 P T < BRCHL
o
u} 2 4 B B 10
x
43
(2)
(b)
(2)
(b)

17 27



4.4

ATM
ATM
ATM
ATM
K-MEANS
ATM
4.5 k-means(
k-means
k-means

k-means

4.6 SSE SSE SSE
SSE

(a) SSE

(b) SSE

(©) SSE

(d) SSE

(e) SSE

SSE
SSE
4.7 4-19
K DBSCAN
s
I-'.' taday

ib)

18

27

SSE



(a) 2
1
2
(b) 1
2
2
(©) 3
1
3
(d) 2
5
2
4.8
)
4.9
(Bipartite)

(co-clustering)

(a) ( )
(b)

(c)

(a)

(b)

(©

4-19

19

4.7

27



4.10

SNN

T R R

4.11

(a)

(b)
(@)

(b)

4.12
(a)

(b)
(@)

(b)

4 SNN
1 4 3
2 3 4
3 4 2
4 3 1
2 SNN 0
3  SNN 1 4
4 SNN 1 3
3  SNN 1 4
4 SNN 1 3
4 SNN 0
SNN SNN
SNN
r
10g( n j &
r+e r+¢
L,
N x L
k-
0
a b k- b a k-
a b
k+1 b k
k a k
b

20 27

SNN

k+1



1) a b
Mp=Map =1 My, a
ii) a b k
Mba: Mab =0
4.13
(
(a) (®)
(a) (b)
(b)
5
5.1
52
(a)
(b)
(c)
(d)
(a) >
(b) >
(©) >
@ -
53 5-14
5-14 53
Customer ID Transaction ID | Items Bought
1 0001 {a, d, e}
1 0024 {a,b, ¢, ¢}
2 0012 {a,b,d, e}

21 27



2 0031 {a,c,d, e}
3 0015 {b,c, e}
3 0022 {b, d, e}
4 0029 {c, d}
4 0040 {a, b, c}
5 0033 {a, d, e}
5 0038 {a, b, e}
(a) {e}, {b,d} {b,d, e}
(b) (a) {b,dj ~{e}  {e}-{b,d}
() {e}, {b,d} {b,d, e}
(d) (b) {b,dj ~{e}  {e}-{b,d}
(a) s({e})=8/10=0.8 ;
s({b,d})=2/10=0.2;
s({b,d,e})=2/10=0.2.
(b) c({b,d}->{e}) = s({b,d,e})/s({b,d})=0.2/0.2 =1;
c({e}->{b,d}) =s({b,d,e})/s({e}) = 0.2/0.8 = 0.25.
c({b,dj->{e})# c({e}->{b.d})
(c)
s({e})=4/5=0.8;
s({b,d})=5/5=1;
s({b,d,e})=4/5=0.8.
(d) ¢ {b,dj - {e}  {e}-{b,d}
c({b,d}->{e})=0.8/1=0.8
c({e}->{b,d})=10.8/0.8 =1
5.4

s(A,B)=50%  s(A)=70%

S(A,C) = 20%
s(B,C) = 70%

s(B) = 90%
s(C) =60%
minconf = 60%

¢(A - B)=s5s(A,B)/s(A)=71% > minconf
¢(B - C)=s(B,C)/s(B)=66% > minconf
c(A - C)=5s(A,C)/S(A)=28% < minconf
¢(B - A)=5s(A,B)/s(B)=55% < minconf

5.5 Apriori
(@)
(b) s

22

27



() 1

(d) Apriori

(a) s s’

min_support_count

(b) D |D| support _count(s’) = support_count(s)
support_count(s’)/|D| = support_count(s)/|D| support (s’) = support (s)
(©) “so(1-9) confidence(s - (1 — s)) = support(l)/support(s)
“8go(l-58")" confidence(s’ - (1 — s”)) = support(l)/support(s’)
support (s’) = support(s) “ s’-(1-5")” s->(1-5)
(d)
min_support D d;d,...d,
aj ay...a, D s D
s C1Ca...Cp

S 1 Sy N (1 _ s?)”

D
D
] min_supp_count
support_ count(s’) = support_count(s)=

bl

S

ci< a; * min_support c,< a, * min_support
c/< a, * min_support  (citcyt...+c,) £ (ata+ an) * min_support

(citcot...+cy) D S arta+ an
S S D
5.6 3- {1,2,3}y {1,2,4} {1,2,5} {1,3,4} {1,3,5}
{2,3,5} {3,4,5}
(a) Apriori 3-
(b) 4-
(a) 3- 4-
{1,2,3,4} {1,2,3,5} {1,24,5} {1,345} {2,345}
(b) 4-
{1,2,3,4} {1,2,3,5}
5.7 5 5-15 min_sup=60% min_conf= 80%
5-15 5.7
1D
T100 {M,O,N,K,E, Y}
T200 {D,O,N,K,E, Y}
T300 M, A, K, E}
T400 M, U,C, K, Y}
T500 {C,0,0,K,I,E}
(a) Apriori FP-growth
(b) Apriori
() 1)
(1) 1- M,0,K.E,Y
2- {M,0} {OK} {OE} {KY} {KE}
3- {O,K,E}
23 27

s—(1—5s)

{2,3, 4}

4-



(2)
M=2-1=2!1_1=2047

Apriori 23
(3) {O,K}—>{E} 0.6 1
{O,E}—>{k} 0.6 1
5.8
59
A B
5.10  5-16 hot dogs
hot dogs hamburgers hamburgers
5-16 5.10
hot dogs hot dogs Yrow
Hamburgers 2,000 500 2,500
hamburgers 1,000 1,500 2,500
Ycol 3,000 2,000 5,000
“ hot dogs = hamburgers” 25%
50%

“ hot dogs = hamburgers”

s({hot dogs})=3000/5000=60%; s({hot dogs, hamburgers})=2000/5000=40%

C({hot dogs} — {hamburgers})=40%/60%=66.7%

24 27



S({hamburgers})=2500/5000=50%
lift({hot dogs} — {hamburgers})= C({hot dogs} — {hamburgers})/ S({hamburgers})
1 hot dogs  hamburgers

=1.334

5.11 5-17

1-

5-17

5.11

Sequence ID

Sequence ID

1

2
3
4

<a(abc)(ac)d(c f )>
<(ad)c(bc)(ae)>
<(e f)(ab)(d f)cb>
<eg(a f')cbc>

<a> <b> <¢> <d> <e> <f>

2-
<aa>
<ba>
<ca>
<db>
<ea>
<fb>

<ab>
<bc>
<cb>
<dc>
<eb>
<fc>

<(bc)a>

3.
<aba>
<bdc>
<dcb>
<eab>
<fbc>

<ac> <ad> <af>

<bc> <bf>
<cc>

<ec> <ef>

<(ab)> <(bcy>

<a(bc)>

<abc> <aca> <acb> <acc> <adc> <a(bc)a>

<eac>
<fcb>

4-

<eacb>

6.2

)

K-means

o(n?)

25

@

O(n)

27

k-d



6.3

6.4

6.5

6.6

O(nlogn)

O(n)
@
1000000
(b)
@ 3
3
2700
()
0.01
99%
)
=(99%*1%)/ (99%*1%+1%*99%) =50%
=(1%*99%) / (1%)=99%
( )
¢ ¢ )
( )
26 27

0.00135

1350
0.0027

0.99



6.7

@

(b)
@

(b)

27

27



